
Serial No.
Checked By:
     Tech
     Date

Box 1 - FI70 Wt: 2.5 lbs. Dim: 16" x 8" x 3"
Part No. Description Quantity Yes Remarks

1 FI70 Color Display 1
2 001-105-770-10 NMEA2K Cbl Assy 6m 1
3 100-394-750-10 Flush Mount Sponge 1 CP26-02001
4 000-167-453-10 Flat Washer M3 2 "
5 000-167-404-10 Spring Washer M3 2 "
6 000-167-826-10 Wing Nut 2 "
7 000-167-804-10 Threaded Rod M3x40 2 "
8 E72-014-03Z User Handbook 1
9 C72-014-02Z Flush Mount Template 1
10 MDC-728-10Z Environmental Data Sheet 1

Box 2 - FI70 Wt: 2.5 lbs. Dim: 16" x 8" x 3"
Part No. Description Quantity Yes Remarks

1 FI70 Color Display 1
2 001-105-770-10 NMEA2K Cbl Assy 6m 1
3 100-394-750-10 Flush Mount Sponge 1 CP26-02001
4 000-167-453-10 Flat Washer M3 2 "
5 000-167-404-10 Spring Washer M3 2 "
6 000-167-826-10 Wing Nut 2 "
7 000-167-804-10 Threaded Rod M3x40 2 "
8 E72-014-03Z User Handbook 1
9 C72-014-02Z Flush Mount Template 1
10 MDC-728-10Z Environmental Data Sheet 1

Box 3 - FI5001/30M Wt: 5 lbs. Dim: 16"x10"x7"
Part No. Description Quantity Yes Remarks

1 FI5001 Wind Vane Assy, 2 pieces 1
2 IMC-726-61Z Installation Manual (bilingual) 1
3 000-158-850 4x20 Self Tapping Screw 4
4 000-010-511 30M Wind Inst Cable Assy 1

Box 4 - FI5002 Wt: 1.2 lbs. Dim: 9.5" x 7" x 2.5"
Part No. Description Quantity Yes Remarks

1 000-011-748 J-Box 220x84x52mm 1
2 000-158-850 Self Tapping Screw 4x20 4
3 000-167-891 Wire Tie (100mm) 9
4 000-166-944 Power Cable 2m 1
5 C72-007-02Z Installation Instructions 1

For Internal Use Only

FI70

FI5001/30M

FI5002

PACKING LIST FOR FI70DSW

FI70

Page 1 of 2



Serial No.
Checked By:
     Tech
     Date

Box 5 - IF-NMEAFI Wt: 1 lb. Dim: 11" x 8" x 2"
Part No. Description Quantity Yes Remarks

1 IF-NMEAFI Analog NMEA Data Converter 1
2 000-167-940-10 Tapping Screw 3x20 2
3 C72-014-04Z Installation Guide 1

Box 6 - DST-800PSF Wt: 2 lbs. Dim: 10" x 8" x 4"
Part No. Description Quantity Yes Remarks

1 DST-800PSF NMEA2K Spd/Temp Transducer 1
2 20-478-01 Airmar Inst Kit P617V-DST800 1

IF-NMEAFI

For Internal Use Only

PACKING LIST FOR FI70DSW

DST-800PSF

Page 2 of 2


